1

Wh.ich of the following bird is linked with
phosphorus cycle?

(A) Kingfisher (B) Pigeon

i : D) Guano
(©) Humne;l%gig;dm q(a?f) b S
we &7 |
(A) TeitRerT (B) av’;@%
(©) him % P 1
How many districts are desért vdistricts in
jasthan? 3
RWWaJaSt 13%1; Reell 7 ¥ faa e woRE %’?
A) 11 AB) 12
© 13 © 0. g

The area of an equilateral triangle is 2515 cm?,

then its perimeter is - R Y *%rlsX% \
. , &4

(A) 50 cm B)- 5043 cm j/&}\w '

(C) 60 cm D) 30 cm o

T G BT 1 A 2543 TP E, A9 T8

o ¥ - ] -

(A) 50 & (B) 5043 @fr

(©) 60 & D) 30 ¥

Cinnamon is obtained from which part of the plant?
(A) Bark (B) Leaf

(C) Flower (D) Root

T, TEw % fRE AW ¥ ar R ¥

(A) B (B) =i ;
(P) ®
Reliance Industries Limited will develop India's

first Multi Model Logistic Park in -
(A) Karnataka (B) Tamil Nadu’

(C) Rajasthan (D) Gujarat . = :
e sved, R T 9 &1 0o Hedl Hisw
Aftfes o ¥ feafad fepar smem
(A) ®ed (B g

(C) T (D) TeTT

Rheumatoid arthritis is afan.
(A) hypersensitive  (B) bacterial

disease.

(C) fungal (D) autoimmune
greras o T AT RN
(A), e (B) <ranfvasm,

11

12

of the following word : |
Circular
el
(A) T *g)
(C) fed (D) e
o 1'0g2‘7'x'=—é-, then x is equal to -
= TET & —
@) 3 _AB) 9
© ®) 5
.Rh factor is an aﬁfigell situated on the surface of
(A) Red Blood Cells
(B) Platelets
(C) Lymphocytes
(D) White Blood Cells
Rha%l‘(%@trﬁﬁ‘f%?ﬁﬁb‘ & gqe
R fea B 2
(A) @@ TR B9
AB) Ry
- (C) fwmrageE
(D) 37 BT B9
ghufter = F i o1 aug 7
(A) Tgslite - (B) s
© fag (P) wuT
Golden rice was produced to \reduce the deﬁcienéy
of among people. N
(A) Vitamin A (B) Folic acid
(C) Magnesium (D) Vitamin B,
GO AT B ST @l & Y
BT % R‘TQ feman T ' |
) Feaf @ B) B o
{0 Tt (D) fofer

7

~

Choose the most appropriat

13 Which of the following is'latitudinal extension of

Rajasthan?

(A) 23° 03' North and 30° 12" South
(B) 23° 30' North and 30° 21' North
(C) 23° 30" South and 30°.12'
(D) 23° 03' North and 30¢°

?Sieﬁﬁqw I T Sretistr fereme & 7
03' X Tq 3(Q° 12 aﬁTUT

(B) 23° 30 e ot 300 210 o

(©)_23° 30" afrwr et 300 191 zfoger

3° 03' 99T wd 30° 121 g

South
12' North

¢ technical translation -

14
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17



How many minimum meetings of Gram Sabha are

compulsory in a year?
wama%waéﬁ%ﬁw%ﬁaﬁaﬁ%?
(A) 3 = ) 4

©) s (D) 2

Choose the correct indirect form of the given
sentence from the options given below :
She said, "We were thinking of selling the house
but we have decided not to". : ‘
(A) She said that they had been thinking of selling
the house but had decided not to.
(B) She said that they thought of sell
but decided not to.
(C) She said that they think of s
but had decided not'to,
(D) She said that they have been thinking of
selling the house but had decide not to.

ing the house

elling the house

6 Population of a city is 1 crore. If number of live
birth is 85 thousand, the Birth rate is -

TH e Dl e 1 B ¥ Al shf o= Rrggedt |

B FE 85 TR ¥, T 9 W ¥ -
(A) 85 B 8.5
(C) 0.085 (D) 0.85

Q L 6L
.W"Mﬁ
8:S

(A) Depression in crescent dune
(B) Artesian Basin -
(C) Playa in desert
D) Oasis i
qumﬁ' G % AH A AT S @y ?
(A) THEHR qgH [ A T

(B) w&d St

Which is named as ‘Dhand’ in the Thar Desert ? |

19 VLOOKUP function used to :
' (A) Looks up text that contain ‘V’
(B) Check if two cells are identical
(C) Find non related records
(D) Find related record
VLOOKUP %a#31 %1 %Il &
(A) 9% 915 Gedl & R V% _
(B) < &¢9 Bl UheH GHMGT & foC S@dr &
(C) = Prer e A R o 3
_(P) P g Raté dor ¥

of painting? |
" (A) Marwar (B) Dhundhar
(C) Alwar (D) Mewar

vt oS afad fsear @ fhg Ser @
griftr ¥ 7
(A) wrErs
(C) omax

(B) R
D) TETS

tloes

21 In aquatic ecosystem, the limiting factor for
productivity is

(C) o™ § @l
SO e
18 | The median marks from the following cumulative
frequency curve is - A
ﬁrrx:? e sngha o | HITEAH! WIih ¥ -
0 50
£8 o} .
E 30 focncmmmn oo [
o halst
o% 10 - : b
o )
= 0 710 20 30 40 50 60
Marks / 9T<iice —>
7 (B) 45
S o ) 23
3
uvs21 O

———E

(A) ‘- water (B) air
(C) -soil (D) light
| _
(A) v AB) =g
(C) T (D) weprer
22 With whj ' .
i wlnc;h folk art ig Jankila] associated? -~
(A) Phad B) T
©) Baharupiya (D) NamaSha
i | autanki
WW(A)R _ﬁﬁiﬁaﬁ{r@(ﬂwﬁaﬁ%?
e —(B) RN
o (D) e
23 A perso’n buys
and sell theyy, af :1111: :;tthe o o 1 peng
is his profit iy per0ente f1 ns in ¢ llm -
@mﬁa?lo%nﬂige? e
¥ 0y A T g e
I TR Juy & ST ¢ e
(A) 10y, o Ll
(D) go,
& ’
I 0
!DO ! a Q‘ [ Confd

20 Famous painter Sahibdeen belongs to which school



IS seventh from the right. When they interchanged
their places among themselves, then Aman becomes
cleventh from the right. Then what wiil‘Be Roma's
Position from the left? (4]

- (A) 11th 'ﬁ‘ TNE. o)

o\ﬁmv ﬂwﬂr CUV _O:,. ﬁﬂm.m. E
ﬁqvmmiﬂﬂ&%wﬁa%wmﬁ,r@qi%
wﬁmﬂw.mﬂw ST ¥ arqe o i PN

.w%jﬂ&@awgﬂ.@ﬂﬂ%ﬁgﬁ
.6

25 e
, rban mgvﬂo%aosw.»@%ﬁmwwioo
han wag launched on.‘-
September, 2027 b

(B) 8™ November, 2022 o
(©) 18™ November, 2025 :
(D) 15t August, 2022 ;

ST 7 SRy wriefy ST Qo -

54

(B) 8 sz, 2022 &) -
mov. 18 s=r/T, 2022 Eal
D) 15 e, 2022 =

2 U

16 9]

— YW Roma 1s eighth from the leit and Aman | <7

Yy lliuvilil 1o 1IVL & AR st =7

. ; N
Enterprises of W.&mwﬁrwﬂ.. ] .
(A) To monitor the functioning of all state public

Sector. undertakings.

(B) To coordinate working of various state

30

26 The value of /772641 is - ]

V772641 WA R -
&ﬁv 871

(C) 889

oy
00

4

(B) 891
(D) 879 .

05

o
Yh

sz

27 gEea ¥ w Su deer o @y
5 e
JAK) T AT G FAT Eier
(B) areY & sme¥ AT wEren
(C) ®9Y 9T {E T B
(D) r& &I See] T

054338

28 ‘eNUTeHw@®E’ 9 % g Uw ardE aRigy -
(A) w&re gar aren
(B) & & 9 €M 4
(C) oreE=T % dryg
AD) R ¥t

avs2 ] O

ﬁwﬂ«:

31

33

enterprises. .
(C) To serve as a clearing house for the collection

of information for all state public sector
undertakings.

(D) To issue guidelines to private ente
Rajasthan.

TR < WD ST SR BT B o1 BT T8 & ?
A ﬁ&ﬁﬂﬂ?ﬂwﬂ%%&ﬂ%%g

rprises in

HC :
B) T & v susdt @ wriwems ¥ gy
BT
©) dﬂ&%ﬂdﬂﬂ?ﬂ%ﬂ%%%?ﬂﬁdﬂ
TP BT ¥G FMLNT 5wl b
(D) TSty % Proft wusesit a1 Tran—forger il
d.q cos 6 Hmv then tang =19~
&upq oOmoHIMJ W tan® =9
A . =
( v ) l& @N IQN.. )
b
oy R .
CTT o
. . a
Example of logical Operators s -
- %ﬂd@ﬁﬁﬁﬁﬁw .
© Xor o
; / >
Which one of t}, ;
MWW Shahpurg ,MNM%MMMMW.E Wrongly matehed”
AO Hﬂ.—ﬁ@&ﬂﬁ&. - WﬁEQWw.wm J1
(C) Singhthy) . Harivangp;;
(D) Ren ,wq Um&%mﬁ.ﬂ nshyi
A&_ﬁmﬂwdﬁ%ﬂﬁw T T i 27
B) T — g |
(D) o - RG CE
"The cube of #, -
101" &1 egpey mﬂx_w i
(A) 1030301 B
(©) 105050, V\Muw _Mwwio”
‘ 020

[ Oow&...



34 N%ﬂﬂa@ﬂw_ﬂmaﬁmmeWI
JA) wwdm B (B) e G
(C) wmerg fean - (D) e fRan

35 In order to get a diminished, virtual and erect
image, the object can be placed anywhere in front
of a mirror. . ‘
(A) concave

(B) plane

(C) either concave or convex
(D) convex .
fopdt g (Riw) ot Brer, STl @ W wffe g
H ¥g O UL | B O T o
SETU : R

(A) SEad

(®B) T |
(C) = T ore A1 T

S v

36 Choose the correct antonym of the following word.
from the options given below :
Encourage -t

) discourage
* (C) persuade

N

®) incite
(D) aid
37 Which of the following is India's first privately
developed Rocket? :
(A) Vikrant-S. :
B) Vikram-S
" &) PSLV-G
(D) PSLV-XL
Srfefad & & FE & A
fyepia e &7 .
(A) fpia — O

© droaged =
(D) drgETEdl — TR
ous for black pottery? ,,
(B) Sawai Madhopur
(D) Jaipur

o e Pt 850 AT

38 Which place is fam
(A) Banswara

39 Geo-stationary satellite revolves at
(A) Fixed height
MWW m:.v\ _romm_: above the poles
. eight which depe its |
(D) Any height pends upon its mass
q—Rerx SuwE AT & -
(A) Rt $od W
Amv‘tﬁm%%i%ﬂ.
@) G <t g wt fofe @
(D) M#% ot S o
O
40 - Whosis author of Amarkavya Vanshavali?
A) Eﬁ@.?mz Bhatt ~ (B) Sadashiv Bhatt
© mWw:oESm Bhatt (D) Jeevadhar
o e H AGD BT &7

(A) '<F g ) g wE
&wv RIEICES
G )

41. G:am&é_:.o:p»n_.&o of the Indian Constitution
the (Geyernor can reserve the bill passed by the
legisl m,Ed for President's approval?

(A) , Article 257 (B) Article 213
(C) “Atticle 200 (D) Article 256
R feg SrgeT & ded eI e oA

@ bt ¥

W) BT 257 (B) ogaw 213

© qﬁ@w&m 200 (D) org=s 256
)

42 Partigéh elections for Panchayati Raj bodies was
N Roon&amammm by -

A) |4 hok Mehta Committee

®) nQL ‘K. Rao Committee i
©) nmmw&n Ali Committee :
D) R Santhanam Committee
ﬁa&dﬂaﬁ%%%%%%ﬁuﬁ
< 0 _ o
(A) (Fgi Agar Gt :

43 Qroﬁmv widely regarded as the father of the India's

mnwom/mwomnm_samw " .

A) Dr. Vikram Sarabhai

®3) Ly A.P.J. Abdul Kalam

© MUH Panchanan Maheshwari

(D) %M. Homi Jahangir Bhabha

S ettt TR % ST RAY W St ¥ ?
) B, fmd AR

(B) 1) gi3. rgw Hamw

(C) &L 4o Al

© Chittorgarh ,
a@gwﬂ&w@n%agqﬁw
(A) St (B) @ AT
(@ FadiETE (D) gL
5
avsz1 O

(D) &1 gt TR Wi

[ Oos&...

T T ———



i i clitalry o929 """ |
44 “Zero Hour” in Indian pariiam J

substance. H.ﬂ works by ®)  Eorplidi
implies the - jon I ends. (A) reduction Sorp
4 i uestion-hour ; %€ aptilation
AWV M.v,moﬁmﬂwﬂo%wwﬁW_MM_W& discussion between ©) Emm&::mﬂ o (D) o
0 .

®) p:z stages of discussion on a bill.  OEW gE T ?ﬂ% : vﬂﬁu_ﬁ ERIRSIGL

oot ti [ for a discussion on %\ e fpg WEH B & HCT &7
(C) Specific time allotted for a o T

budget. ) (A) eEE . f AT
D) aBW between question hour and next item on ©) F D)

the agenda when the members raise any fertst TR LT

matter without permission of the chair. . v. .
i %mm o HA ﬁﬂmﬂ MMAEWN_E_ 149 The average of 8 consecutive integers is —-. What
(A) =& T WG W :

2
(B) fenelr ferdrer wx % < wreott & < st is the average of first three integers?
=4l & oy erefed gw@) : L 23 . L
%%ﬂm&%*ﬂm%ﬂﬁmgﬁﬁﬂi mﬂgﬂ%ﬂﬁ%ﬁwwzaﬁwﬂﬁﬂwﬂ
W b SR HEGA B ST 7E F A H b : :
TG S I S B AR & S D Mﬁd%ﬂw. c@ﬂo =23 %8
fowg sem ¥ : oo

X o
© 10 (D) 7 R

¢ 9 oat 2 -
45 When in the system input, process and output are S BT : T .
known with certainly, such system is called : S0 ér.m:rwum of the following Samskaras is related
(A) Close (B) Probabilistic to birth?
(C) Deterministic (D) Open . MWW W\hmﬂﬁ MWW Wm.bwo_w
ST U qUNEl ¥ FYE, WEW q oeee TEe . ) mndol
WE T &, T8 Yo Hea Y w P A & e g s Y e 7
(A) ==t B) TomEw - (A) #@x ®B) e
@) e (D) s M\@v EESl : (D) Tt
. Tpnae i y ) . ;
46 is a process of translating a task into a |53 " por wh t val :
series of commands that a computer will use to | or what value of 7, (x+4) is a factor of
perform that task. Axs iy sz 9
(A) System Analysis : (A) Only for prime values of s
B) Oo@:m _(B). Only for even values of n
(C) Maintenance (C) Only for odd values of »
(D) System Design . ; . (D) For all values of »
T B B AR B G H STHAE B G .
Fr uw uhE ¥, R TR o9 aH § B F g :%Wmmﬁi%?a@+&u?=.+sdﬁﬁﬁ ,
IUART HLA : : . \ ame ,. T 1
(A) T faseom Aﬁ%w frer) L) n % HAW THEEAE B frg
SB) @en . B) 1% Faa 9 qE B g
(C) Aty (vawar) | (C) n % Faw fom Wil % o
(D) Tees fesmet _

(D) n % & 7k % frg
is function of Rural Non-Farm Developmen : SRS .
47 Mr@ﬂﬂvm\ MMGU»Q.V .| 52 O_SEU& Project is a Jomt venture of states of :
m>m,v To develop Non-farm sector (A) Wm_.mm»:m: and Punjab
(B) To develop educational institutions (B) Rajasthan and Gujarat
(C) To provide electricity in village

©) W&.mmzﬁ: and Madhya Pradesh
(D) To develop agriculture v (D) Rajasthan and Haryana
O o gt fora sicen (%0 o e v 37 <O AT R <ol o e e & 3
(A) Fregh i foara ), St ot |
(B) fara weenell a1 faema O ST S e
% S _ HC) TR @R wey wep
) @

(D) T &R e

: Contd-~
pvs2] O s ol [



T BRSO TRE T T
- *

ol o
He took ages the job.

(A) above (B) beneath
(C) of (D) over

54 Where did Chief Minister Ashok Gehlot lay the
foundation stone of Dr. Bhimrao Ambedkar Law
University on 16 November, 20227
(A) Jodhpur (B) Bagru
©) Kishangarh (D) Alwar
16 T, 2022 F gEg " e Tewd |
<. S erReey faty fayafemad @ eerR
el <@l ? ,
(A) herge ¥ O
(C) fperrre o (D) r@ax &

55 A sum of money doubles itself at compound
interest in 15 years. In how many years will it
become eight times? \

oo & TRT =g S A 15 ot & gAY & W ¥
ast ¥ g ome T € S
A) 45 © (B) 60
©) 75 (D) 30
56 ‘govETd’ WA L
A T (B) @
(C) =g (D) o

57 What is reason of frequent occurrence of drought

and famine in Rajasthan?.
(A) Trrational use of water
(B) Soil erosion
©) Irregular rain
(D) Deforestation ‘ an
aﬁm%\mﬂaﬁﬁﬁﬁﬂﬁg% .
(A) s o arferdegel ST
(B) - A1 H FI

- (C) et =dt

D) =t e

58 Ctrl + Y is used to: ’
(A) Close a document
(B) Redo or repeat last action
(C) Undo last action
(D) Align a paragraph
Q:+<ﬁq%mmsa§w“ _
(A) 1 s @l 49 H F Y
it o 1 fedie 7 g ¥ frg
(C) eafe fomam gded w3 & T
(D) & QarET T & forg
avsz] O .

SRS s g RS S SRR e ERRt. e

Am:cma:;ma for the given sentence :
The period of life in which a person is old and

“ weak

(B) Senility
(D) Dotage

..\av Impecility

(C) Superannuation

60 Which of the following igneous rocks are found

£l

61

62

63

o

in Jalore?

(i) Gabbro

(ii) Granite
+ (iii) Rhyolite
ﬁé Basalt

1

(A) (i) and (iii) (B) (iii) and (i)

J
w@ (i) and (iv) (D) (i) and (i)

w_ﬂ*@ﬂwﬂ%%.%ﬁmﬂ#ﬁ%mﬂwiww
NORRLEL

(i) ¥EE

(iii) T

(iv) @

(@) (i) @ (iv)

9 (i) = (i)
(D) ()= (i)

© @O

Choose the correct option.

Tenders should be written in a language that is -
(A) informal
(B) stylish
(C) brief and to the point
(D) roundabout a lengthy
A AT JE 87 R
(C) @i (D) “¥siad
The process in which a carbonate ore i .
: : re is heated
strongly in presence *of limited air )
into metal oxide is called - ed air to convert it
(A) Reduction (B) Calcination
(C) Smelting (D) Roasting
T i fred Bl omes @y 2 ,
T % R arg Y D ety ¥ urg sileEEs o
I 8, wean) ¥ — TodT & T fpar
(A) s

, (B) Fremam
©) = :



64 Which of the following enzyltivs op_c =
‘molecular scissors’ in biotechnology?
- (A) Polymerase
(B) Hydrolase .
(C) Restriction enzyme
(D) DNA ligase

Frefefiaa & @ @ a1 dogs S R ¥ ‘o |

&Y wEwmar ¥ ?
(A) efEy
(B) =Y . . _
AC) R o (Rgaem womEm)
(D) dog i
65 Which nw.m.,m:o following forts is awarded'¢Best
destinationin India Silver Outlook Traveller Award; |-
202279 O\ ;
(A) Hawamahal (B) Kumbhalgarh |
© Wm:fmﬁwaconw (D) Jaigarh ;
Frfrfaq fret ¥ & A 2Redem o 2o |
Tt oM Yawt et 20227 ¥ wawen T
(A) amgEy AB) TS ;
OB (D) e
66 2024 wcnnnd\woﬂ Olympic Games will be hosted by-
) (A) Paris™ (B) Moscow
(©) Qatar (D) Tokyo :
2024 % Hore SATteTfees et At AT B a7 |
A A (B) et e
(©) ﬁm (D) iy
67 The Gmommnﬁm.mw E. Coli responsible for diarrhéea are- |
(A) Oﬁﬁw negative  (B) . Gram neutral
(C) Non-invasive (D) Gram positive
T & TS €. B e B ¥
(A) U9 FoTHS (B) W STE@=
(C) v Zrdtaa (Qu% T TS
68

The B:w@“wm‘oﬁ the following, belonging to the
lesser Himalayas, is -
(A) Dhatiladhar (B) Mahabharat
(C) Given‘all” (D) Pir Panjal _
Prefefad-o & fra—Reea & wif a3 -
(A) deEar (B) wErRE
(C) el D) IR dorw

oo
What ::m_wg, must be added to each term of the
ratio 4 : mxmb that it may become equal to 5 ; 6?

69

; (O m A

D) Clllc = AR
(D) U — gl

itudes from two vertices of a triangl
%M.M@MMMMM sides are mnEmr.%o: the triangle
(A) equilateral (B) MOwooEm
(C) scalene (D) :mrﬁ-mdm_oa
ofk T Brge ¥ & et § wE geiell W W

(A) T —@ET
(C) fafT — vt

71

T E, B ¥ -
(A) wETE z&ﬂ@m@
120 (©) fawarg (D) GBI
2 Prifea F ¥ fRY W@ TSI (1) § W
© Tpur @ ¥ 7
(A) afas S st
©) egERs (D) fHfqar

73 Which blood type is a universal donor?
| B W TR A arar

A>v O+ L

(C) AB+

Diamond.is a -
(A) Isomer of carbon
(B) . Isotope of carbon
(C) Isochore of carbon
(D) Allotrope of carbon
TS ¥ -

R g sig o
Hmﬂﬁw_m.m_wmaﬂﬂ_.mﬂ
O 2 1

,w.d.m_dﬂ 16t #3
e

B) 1.

D) 4 =,

.3 Find the missing number,

T A TR i)

15 {5 g0l e

6
®B) 2

6 A

25 1
15

(A) 20
(©) 24

D) 19



i i rst two
86 There is a definite relationship _umﬁéomoﬂ_ume:m_:v
problem- figures. Based on same I
1 - figure.
hoose the correct answer
M?&E%w%ﬁgﬁj&wﬂ%
mﬂﬁmwgmﬂﬂﬂ%aﬂﬁ@ﬂﬁmﬁ%
Problem Figures / W@l SUGHKkAl

ol'alln

O an (m av)
Answer Figures / 5 Eieate

oA w[Q] .
mlO] wjal

87 The first Lokayukta of Rajasthan was -
(A) K.P.U. Menon (B) K.S. Sidhu
(C) M.D. Kauranj (D) 1LD. Dua
mm— 3

. & Fo WG o
Mv HAg, A (B) %.uw. g,
©) ™. By - (D) emg.d. gan

?

88 The members of I,

through -
(D Direct elections
(@) Indirect elections
(IIT) Nomination
A W, (II) and

egislative Oo:no: are appointed

() (B) A1) and (1)

90 A elreE e What is the area of the circle?

W :
M\Mvo_dom%m _owEowE (B) 152 ¢ o:um
) (C) 19271 cm? .QUV Mﬂwﬁ cm R
16 A @ 12 A el QMM
e war ¥ gA BN G T T 7 ]
. ,MN 1007 &2 (B) 1527 ¥
©) _omﬁ...@nﬂm (D) 967 A2

i 3 in the ratio

ly incomes of A and B are in :
. M_.MM:MMM__H vwm_ﬁ:wa saves X 600. If the ratio of
E.oW.mwis&Enom is 3 : 2, then the monthly income
of B is - . i
A T Bl "It o W 413 B0 g ¥ QY A
@n@a&moo%w.%ﬁwgiiﬂﬂﬁ

HFA@ 3:2 7, @ B A S B —
(A) 2,000 ) T 1,800
(C) T3,600. (D) T 2,400
92 Which function is used to calculate remainder in
MS Excel? .
ST (Remainder) s &% % T o ww v
B G e Ty g .
+ (A) MOD() ) INT()
(© FACT() (D) DIV()

B waomo:ﬁmmon view
© O:E:.m view

- © (D) Slide show view
(© @ and () (D) (1) and (i) P ¥ & oy etET o gy 3o
Eﬁq@ﬁ;%ﬂ%ﬁﬁawﬂsiw; v@vmﬁmﬂ, - XB) SR
O v g ﬂ © sz o D) M o oy
) @ .
Mﬁwv ﬂ&% MME : 94 By éEo.: Other name is Targg; Mata knowp whose
(A) O, (D s qmy (B) dD =i (1) MMW%_@ Hw located in Talwara (Banswarayy
SO 311 D) @ e () © >M@www_>_ ) Mwuw Tripura Supgay
( rlley ata Qm.m_m_ﬂwram
89  The difference between sugar molecules of DNA REGIH AT Terren Hiex TS (Sigarey)
and RNA is - : , a&wﬂ%qﬂ@&ﬂ%ﬂ%f v.vwwamw.
(A) ‘presence of oxygen at 3-C (A) TR ..Qw\v W_m.ﬂ Tl
(B) absence of nitrogen at 3-C C) ey
(C) presence of nitrogen at 2-C .A ) : ol (D) dﬂ_ﬂm&
D) ab f at 2-C A
m.v .M.mmmmﬁwﬁoﬂ.mwwowm THT & F gigr y - | 9D Which of the following i different fyop, others?
SI.GA.¢ 4 & safafy (A) Circle (B) Triangle
(A} 3-C g J— © m.n_:e,o D) Cone
B 3-C 9T AEgiwT w_ﬂwﬁﬁmﬂﬁ@wﬂww
(C) 2-C WX rgivm &y sty (A) o ®)
(D) 2-C WX SATas a1 o ) =i oy Mw_@%
. A~ :
o ) i td...
vs2] O / AA««MM&Q 10 LG
. . g |
N N KA T ARy



96 Which one of the following trees is rich source of | 101 The birth pl . f G
ace of Gogaji is

gum in Rajasthan?

(A) Dhokra (B) Salar

(C) Khair (D) Teak

freifted el & & B | gar e ¥ T ¥ fag
aregT A & 7 _

(A) e ) wm

(€) (D) |rTE™

97 BaCly(,q) +NaySO, @,e — BasO, d +2NaCl, ) is

an example of

(s)

(A) Double displacement reaction
(B) Decomposition reaction
(C) Combination reaction

(D) Displacement reaction

BaCly(,) + NaySO, ;) = BaSO, {+ 2NaCl(;q)

aq
w e ¥ -

(s)

q\&& fr—Rremw eiffpm w0 0 -
(B) T aifufipan e :

(C) wdrem stfufsear &t

(D) Tereamas erffean &1

98 The rate at which information is transferr

communication channel - -

(A) Bit rate
(C) Pixel rate

ST @ GETC AT (&)

99 Which is the famous
Gharana?
(A) Bharatnatyam

(B) Nano rate
(D) Baud rate

(B) ¥
(D) 18 ET)
dance mo::, of H_.Ho Jai

(B) Nmﬁ:_mw
®) Odisi

© Kathakali 37
g T @ O
SRIgT X P mw\mv -

(A) wraEad AR
(©) wuwe ®)
100 Guindy National Park mmm _voomww“hwm .
(A) WO_WNMM MUV mmsmm_cz_
M_MW% Mum = ¥ o ¥
e T e E]
(A) el ) e
(C) g= ®

Hvs2 1 O

ed in a

w e @ (@)

11

(A) Kolayat —
.AQ Mallani %W mew.m:s

, TSl & S 3,

(A) @ n\«w\v e

102 Usage of Microsoft clip ga :
(A) to spell check il
(B) to add clip art pictures
(C) to remove slide
(D) to add word art
ATgshrdTe R AT & aT
(A) @ A% H & forg

B o o g g g

(C) wss H FeM & frg
(D) o i wisw & fog

103 The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before

the completion of their tenure by -

(A) President (B) State Legislature

(C) Chief Minister (D) Governor
dﬂ%%&ﬁg&:%ﬁﬁmﬁﬁﬁiﬁaﬁﬂ
& i & 7@ fead & el S Fehell %7

A) gt & (B) faum =« &
(C) wer W ga (D) T &

104 R %mw. e G ¥ 7
(A) & (B) femmem

KO jenll (D) ™=

pur [ 105 Translate the following sentence into Hindi :

Women learn English faster than men.

A) SRS el | e et Sl W %1
(B) Sial @ gE % Yol STt sl Wrert @i
(C) gt Afmel ¥ wE sl W Wil
(D) oW afRal ¥ wedl i dred ¥

106 Who was the chairman of State Reorganization

Commission?
(A) K. Panikkar (B) Fazal Ali
(C) V. Patel (D) H. Kunzru

T T SR % sremey v & ?
ey Sl
(© . v (D) wa. g
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129 Under whose chairmanship wa

Prajamandal founded i.n 19387
(A) Kapurchand Pfﬂtm
(B) Jamnalal Bajaj
(C) 'Balwant Singh Mehta

/ am Sharma - ‘
(D) Nayanu Raf\%n:h'm o 1938 5
w?
(A) HYTER T
(B), SR SISt
(D) o™ gl -

A1
A

130 Any kind of letter generally ends with \'
A) Signature (B) Subscription
(C) Heading (D) Salutation

~

131 The Jain Granthas Harivansh Puran and

Kuvalyamala were composed during the reign of
Pratihar ruler

(A) Rambhadra
(C) Mahindrapal I (D) Vatsaraj - :
msm . F TN B ¥ S Ty
FREANI T G @ e g

(A) IR AB) Mfex Wi

(C) wfe=u™ wum ‘92) ERSES]

'(B) Mihir Bhoj

132 In how many districts of Rajasthan Tribzﬂ Area
. Development Scheme is being implemented?
T & R Raeit ¥ s '
BN AT W E?
A) 8
(C) 12

B 10
D) 6

133 ‘Mahi Kanchan’ and ‘Mahi Dhaval’

varieties of which crop?

136 In which city,

ﬁ?ﬁmaﬁqm

are the

S amw -

| 98 Lociah

inst .
known as - (B) .Access time
(A) Clock spe® cle (D) Data speed

S rocessing Y
©) 1! r;"fgsgg@—{ T BT, Bl U gy
¥ e waE HEr i

Ay i S (B) THH ZEH
)(Q i @ (cycle) (D) ¥ el

‘Invest Rajasthan Summit’ g
7-8 October 20227

(A) Bikaner (B) Jaipur

(C) Kota (D) Jodhpur

7-8 arET 2022 B FRE ST H TR TS i
1 e feRaT T ?
(A) M | xf) S

(C) (D) SEgR

organised from

137 In which medical college of Rajasthan, Institu
of Paediatrics and Neonatology will be establishec
(A) SMS Medical College, Jaipur
(B) JK Lone Hospital, Kota
(€) JLN Medical College, Ajmer
(D) SN Medical College, Jodhpur

T % e Afvew wtaw § fifaied T
~ ?:?ﬁj:ﬁ?r TR B T B ST ?
THQE. Ao Brast, s
B SF. W etede, By LY
HO) . A we, s

138 How | <
(A) Jowar (B) Maize GO\\;; man.y members are nominated bY f
©) (_Eran’l (D) Bajra (A Mor in the Legislative Council of a St
A BT AR A v’ R ww oy e %9 (B) 173 of the total membershi
()= JB) T . (C) 12 of the total membersh%p
(©) = (D) S '(D)) 54 of the total membershlil;;
_ o of the total ‘

134 In which of the following disty; : TRy membership A
Shekhaji Armed Force Training :;:;;; Maharao | ey WE%T?TW Bt Ry i 3 e 9
construction? Y 1S undey (A) W
E/é; g‘“"“ (B) Sikar B) T 1 P e @ 1/3

anganagar (D) Bikaney : DU & @y
CRRIC et
@Tmmﬁcﬁvﬂ%%? .HQRS‘W )W‘\Iﬁ me 3
AT (B) 139t S Tae

(©) aq'; i (B) =fr T
HVS2 | O 4 KOy ™



cchhaPPa“ Plain’ is situated in between -
A) Banswara and Dungarpur

B) Chittorgarh and Pratapgarh

C) Pratapg garh and Banswara

p) Banswara and Kushalgarh
g Bl Ao Rug & -

() i T S

(B) flETe &R WA ¥ 9=

(D) ST S FowE % dr

=
s o~~~ o~

(41 Choose the correct option, f01 the. Passwe
construction.

Everyone calls him a peacemaker.

(A) He is called to be everyone's peacemaker.
(B) He is called a peacemaker.

ﬁ) Everyone is called a peacemaker by hlm
D) A peacemakex he 1s called.

142 sy s@‘cmﬂ%‘raﬁxﬁlaﬁa%—
(A) 3 + U ) o + Ty
(C) &+ THm (D) o + quw

143 The lar gest inhabited riverine 1sland in the w01ld
is situated in the river -

(A) Indus (B)  Godawari
(C) Brahmaputra (D) Ganga

fava 1 wad vt emerdE W@E AW
i Rag %)

(A), fig (B) werardt -

W) g (D) T d

Y44 Fillin the blank with appropriate determmel from
the options given below :

pen will do. :

(B) Much

(D) Many

(A) Any
(C) Enough

l4s World's largest museum of Harappan culture is
bemg setup in - '
(A) Kalibanga (B) Banwali '
(C) Rakhigarhi (D) Lothal

T g SN fyee & @99 I8 WIeTay gy

146 ‘Kailash Sankhala’ was associated with -
(A) Bishnoi caste

(B) Tiger conservation
(C) Black deer conservation
(D) Snake conservation
BT HiEe' grre & —
(A) fagg wnfa &

JB) @ wwem &

(C) et fexor dRepor @

(D) s wwEm Y

147 An aggrieved person can file a writ petltlon for

the violation of fundamental rights in :

(A) District Court only '

(B) Supreme Court only

(C) High Court or ‘Supreme Coufr

(D) High Court only’ X

Hifeten eﬁh‘csr& % T BN X EI’:ITF‘CH RIP«RI fe W&m

YT B Wbl ¥

(A) daw e e &

(B) waw Ieaaw < A

AC) = IRmE a1 Ieaad ey &
(D) %aw v=g En?:nau ¥y

148 Which is the rank of Rajasthan in Indla in terms
- of population in 20119

(A) 27th Rank “(B) 12th Rank
" (C) 8t Rank (D) 24th Rank

91 Bl e ST B R F TR B 2011 % &6

T H R 7
(A) 274 7 (B) 127 wy
A0) 83 o (D) 24 <f my

149 Fill in the blank with the correct option.
The teacher taUOht us that the earth

round. ‘
(A) were - " (B) was
(C) are_ . D) is

150 The lens formula in Cartesmn coordinate system
is —
“where, u = object distance from optical cénter
v = image distancé from optical center .
f= focus distance from optical center "
wrira Prdgties o ¥ o9 B g ¥ -
W, u = g d% © Rew @ Pa"\"ﬂr
v = ’qzmﬂ]—q; E Tt 1}[ uﬁ‘lﬁl’@ Ea) iﬁ '—G‘ir
f= wr&rcﬁ &7 ¥ wbE

I ® =77

)T fovow

/;mm%z«he—mﬁ (B) el o e _,_=l+% \
©) wdrrdr & (D) @ d C) f=v+u f
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